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4 472 INTERMEDIATE PART-II (12" CLASS)

5 Number:

PHYSICS PAPER-II (NEW SCHEME)  GROUP-II

TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for cach objective type question as A, B, C and ). The choice which you
think is correct, fill that bubble in front of that question pumber, Use marker or pen to fill the bubbles.
Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as many
questions as given in objective type question paper and leave others blank. No credit will be awarded in

cuse BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.
Q.No.1

(1 The electric potentia! at mid point in an electric dipole is:
(AYOS Y () OV (Cr 1V Dy 15V
{2)  Negative of potential gradient is equal to:

{A) Mugnetic intensity (13) Electric flux - (C} Electric intensity (D) Magnetic Nux
(1 Drift velocity of electrons is of the order of:
(A) 10° kms ™ (8) 1072 ™! (€) 103 s~ (D) 10% ms™!
(4} The 51 unit of magnetic induction is:
() Weber (13) Gauss {C} Tesla (1) N
(5) Across (x} represents the direetion of magnetic field:
{A) Out of page (B) Tungent to page (C} Parallel 1o page (D) In toghimpage
(6} The only difference between the construction of A.C and D.C generator is:
£ (AY Carbon Brushes (B) Commutatar (C) Coil (D) Maghetic field

E
(7} ... 4o three phase A.C supply, the coils are inclined at an angle ol
ol APRD™  une (B) 90° (C) 1307 D) 1207

{8) " The Stunitof YLC is:

(M) Second (B) Ampere (Gl (D) Farad
(9)'!- +In extrinsic semiconductors, doping is of the order of:
ao a {A% i utony 1o 401 (B) 1 atom 10 10% (@ ! atomio 104 (D)1 atom to 10°

{ 1(}) The operation of complementation is performed by

(A) AND Gaie (B) OR&Gae {C) XOR Gate (D) NOT Gate
(11} Inop-amp, the input resistance is of the order of:

(A} Severat Mega Ohms {BYScveral Kilo Ohms (C} Few Ohms (1) Hundred Ohms
{121 The facter L has the dimensiofs of:

ﬂlu('

{A) Time ’ {B) Mass (C) Length (D) Energy
(13)  The valiit.of Stefehls cOnstant "™ is given by: (A) 5.67 x 10782k ~2

(B) 567 x 10 ~%why, -2 (C) 5.67 x 108w K2 (D) 567 x 1078w 2m2 g2

{14)  The typical ;iuclci huve diameter less than:

(A) 10~ m (B) 1072 m (€ 107" (D) 1078 m
{15),_ '!Lilr;# pl_%r'_-ich:s_'-v«'hich do not experience strong nuclear force are called:

[A) Hudrun_s (B) Baryons (C) Leptons (D) Mesons
{Lﬁ]l.'l' 1-.1('.111-.-:.—-1‘3!-55 used lor the treatment of:

(A) Thyroid glands (B) Bones (C) Lungs (D) Eyes

(7). The term % has the same units as:
(A)Time (B) Current (C} Electromotive force (D) Magnetic flux
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. . INTERMEDIATE PART-II (12" CLASS)
PHYSICS PAPER-11 (NEW SCHEME) GROUP-II
/  TIME ALLOWED: 2.40 Hours SUBJECTIVE MAXIMUM MARKS: 68

NOTE: - Write same question number and its part number on answer book,
as given in the question paper,

SECTION-I
2 Attempt any eight parts. 8x2=16
(1 Write the names of main parts of xerography and draw its diagram.
{ii} Define electric flux and write its formula. Also give its SI unit.

(ili)  Suppose that you follow an electric field line due to a positive point charge.
Do electric field and the potential increase or decrease?

{iv) Is E necessarily zero inside a charged rubber balloon if balloon is spherical?
Assume that charge is distributed uniformly over the surface.

(v} A solenoid 15 em long has 300 turns of wire. A cwrent of 504 flows through it. What is the
magnitude of magnetic field inside the solenoid?

(vi}  Differentinte between sensitive and dead beat galvanometer.
Also define sensitivity of galvanometer,

(vii) Suppose that a charge ¢ is moving in a uniform magnetic field with a velocity V.
Why is there no work done by the magnetic force that acts on the charge?

(viii) A loop of wire is suspended between the poles of a magnet with its plane parallelto

the pole faces. What happens if a direct current is put through the coil? #What happens if
an alternating current is used instead?

(ix} Write any two methods in which the current is induced in a coil.
: '[x}" ) Why the motor is overloaded? Give the reason.

(xi}  When an electric motor, such as an electric drill, issbein@ used, does it also act as a gencrator?
e iE If so what is the consequence of this?

(xii} Can aD.C. molor be turned into a D.C generator? | Whab changes are required to be done?

. Attempt any eight purts. 8§x2=16
(i) Describe a circuit which will give‘a continuously varying potential.
(i) What are the difficulties in testing Whether the filament of 4 lighted bulb obey’s Ohm’s law?
(i)  Write four sources of Gurrefil.
(iv)  What is meant by A.M and F.M.?

(v) How many times per seeond will an incandescent lamp reach maximum brilliance when
connected to 250 Az source?

(vi) What dofyounmean by root mean square value of voltage and write its formula?
(vii) Distinguislybetween sofi and hard magnetic materials with examples.
(viii} . Whieh is more elastic, steel or rubber? Why?
{ix)  Diflérentinte between ductile and brittle substances.
(x) Whalt is the nel charge on a n-type or a p-type substance?
(xi) ‘r\._’hat is the effect of forward and reverse biasing of a diode on the width of the depletion region?
(xii) . What is Polential Barrier? What is the value of potential barrier of Silicon and Germanium?
4, ‘Attempt any six parts. bx2=12

(i) A beam of red light and n beam of blue light have exactly the same energy.
.+ Which beamn contains the greater number of photons?

(ii) We do not notice the de Broglie wavelength for a pitched cricket ball? Explain why?
(i) What are the measurements on which two observers in relative motion will always agree upon?

P.T.O




(iv)
)
(vi)
{vii)
(viii)

{ix)

NOTE: -
5.(a)

(®)

6.(a)

(b)

7.(a)

(b

8.(a)

{b)

9.4a)

(b}

oL M~ 12 —Cntt o

(2)
Can X — rays be reflected, refracted, diffracted and polarized just like any other waves? Explain.
Lxplain why laser action can not occur without population inversion between atomic levels?
What do you understand by “background radiation™  Stale two sources of this radiation.

How can radioactivity help in the treatment of cancer?

1f someone accidentally swallows an <« - source and a [ - source which would be
the more dungerous to him? Why?

Define absorbed dose(D) and write its S1 unit.

ECTION-I1
Attempt any three questions. 3xB8=24
What is Polentiometer? How it is used as potential divider and 10 mensure
an eml of a cell? 1+2+2

A capacitor has a capacitance of 2.5 x 1078 F. In the charging process, cleclrons are
removed trom one plate and placed on the other one. When the potential difference
between the plates is 4504, how many electrons have been transferred?

(e=1.6x10""C) 3

Describe the methad 1o determine the ;—'{H of an electron. 5

A square coil of side 16 cm has 200 turns and rotates in a uniform magnetic figld of
magnitude 0,057 . If the peak emfis 12F . What is the angular yélocity 6Fthe coil? 3

Explain the RLC parallel resonance circuit. Determing the value of resonant frequency

and write down ils properties. 1+24+2
Calculate the gain of non-inverting amplifier shawn indig. 3
Lo [I™ =
la Ko

What is energy band theory? How behaviours of electrical conductors, insulutors and
semi-conductors can be explained on the basis of energy band theory. 5

A bar 1.0 m in length and located along x -axis moves with a speed of 0.75 c with respeci to a
stationary observer. What is the length of bar as measured by the stationary obscrver. 3
State Bolr's model of Hydrogen atom. Derive relation for quantized radii. 5

A sheet of lead 5.0 mm thick reduces the intensity of a beam of y —rays by a fuctor 0.4.
Find half value thickness of lead sheet which will reduce the intensity to half of its tnitial value, 3
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